Ch 10: Mole Packet

The following packet includes various calculations from Ch 10. Itis your
responsibility to practice these problems before the quiz.

Calculations:

1. Molar Mass
2. Moles-Particles
3. Moles-Mass
4., Moles-Volume
5. Mixed Mole Problems
6. 9% Composition
7. Empirical and Molecular Formulas
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Mole-Particle Practice Worksheet

~ I'mole of particles = =6.02°x 10% particles
(Paatrcle is the generic word that we use in chemistyy for: molecule, formula unii, ion, atom, etc.) f

Hints:
»  Always begin by writing out the formula for any compound in the problem.

* Remember to give your answer to the correct number of significant digits

Part One: One Step Conversion
1. How many formula units are there in 2.45 moles potassium chloride?
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2. How many molecules are there in 31.8 moles of water?
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3. How many moles are 2.85 x 108 atoms of iron?
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5. How many formula units are in 3.55 moles of aluminum sulfate?
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6. How many moles of copper are 4.57 x 1013 atoms of copper?
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7. How many formula units of magnesium hydroxide are found in 5.88 moles?
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8. 4.5 x 106 molecules of carbon dioxide are equal to how many moles?
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4. How many moles are 9.05 x 1022 jons of chloride?
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Part Two: Multi- Step Conversions

9. How many ions of ﬂuonde are there in 0. ‘73 moles of iron(III) fluoride?
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10.- 4.50 moles of sodium sulfate contain how many atoms of sulfur?
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I ). 2.3 x 10%* ions of silver are found in how many formula units of silver carbonate?
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12. How many atoms of carbon are found in 4.7 x 102 molecules of carbon monoxide? @O
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13. There are 8.57 x 10?6 atoms of phosphorous in how many moles of diphosphorous 'onE
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14. How many atoms of chlorine are in 2.00 x 10'° moles of carbon tetrachloride? Cu‘_? I%Q“O%ki ‘
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15. How many total ions are found in 12.6 mole.s of copper(l) sulfite?
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("‘nvert each of the following from grams to moles:

1_ 715.0 g CzHemmh . LT
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3. 27.2g H,0 @
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Convert moles to grams in each of the following:

5. 1.5 moles NHs @55\5@\
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Convert the following to grams:

7.3.01x 10 atoms Na \ \%6@ MC\
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Using Factor-Labeling, co 3 o particles:
(‘)
9. 29 grams Ca L\ \%X‘D Pob\/hdﬁitﬂ\
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0. 25 grams . o QW\D@W(@D

Mass-Mole Conver sion Handout

2. 140.0 g NaOH

/008
4. 45.7 g CaCOy m
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6. 0.65 moles H,SO (0%759
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8. 2.41 x 10* molecules C l W(QC QDK)\
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